morales (am226923) — Section 7.1 — martines — (53395)

This print-out should have 15 questions. Evaluate the definite integral
Multiple-choice questions may continue on
the next column or page — find all choices
before answering.

In(3)
I = / 5(3 — xze®) dx.
0

001 10.0 points

1A
Evaluate the integral
2 2=
I = / te tdt .
0
5 3. =8
=14 =
/{ + 3
B S

2

Ar=1-2

¢’ 004 10.0 points
/4,/ I =1— 33 Determine the integral
e
— 2x
%I:l—k% I—/(Gx—i—?)e dz .
e
3 _ . 2x
<6.>I:1—g Y\ [ =Be-5+C
002 10.0 points \9\ I =2Br+5)e*+0
Evaluate the integral
. 3.)1 = 3z +2)e* +C
I = / 6xe’” d.
0 M T =20Br+2) e +C
T = 3(2e+1)
M I = (Be+5)eX+C
s 3
2.1 = ~¢?
2° \e\I:(3x—2)e2f’f+O
A1 = 3(e+1)
005 10.0 points
ﬁ = 3¢? Evaluate the integral
1
/I: §(262+1> I=/ (722 —5) e da .
2 0
3( o
@:5(6 +1) 21 = 2049

003 10.0 points 24 = 2(e—1)


Mobile User

Mobile User


morales (am226923) — Section 7.1 — martines — (53395)

Evaluate the integral
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Evaluate the integral

I = /01 x f(x)dx

when


Mobile User


